Workflow E-Payment via ALEPH SIP2-server
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EXAMPLES:

CASE A (In this example SC-machine is supporting special TPL-fields)

1) Setup in tab_sip2.conf:

tpl_extensions = Y

2) SC-Machine is requesting patron information using SIP2-message 63 (fine-items-flag =Y):

6300020091026    171247   Y      AO|AAMB40|

3) Answer from Alephs SIP2-server

64              00020091026    181749000000000000000100000000AOALEPH|AAMB40|AEMB40|BD|BV5.00|CC0.00|EC0021|EDLocal Patron Registration|EN00000000000500|EV00000000000000|EF00000000000500|EKMB40        200910261465298|BLY|CQY|BHUSD|AFPatron in file|AGPatron in file|

So one cash transaction (5.00) is open.

4) Patron wants to pay 1.50 out of 5.00:

3720091027    1247160100EURBV1.50|AOALEPH|AAMB40|BZMARTIN|EKMB40        200910261465298|

5) Answer from Aleph SIP2-server:

38Y20091026    181919AOALEPH|AAMB40|BZMARTIN|ER1207|BK1207|AFCash performed|AGCash performed|

You see that still 3.50 is open:

6300020091026    171247   Y      AO|AAMB40|

64              00020091026    182013000000000000000100000000AOALEPH|AAMB40|AEMB40|BD|BV3.50|CC0.00|EC0021|EDLocal Patron Registration Paid 1.50 of original 5.00.|EN00000000000350|EV00000000000000|EF00000000000350|EKMB40        200910261465299|BLY|CQY|BHUSD|AFPatron in file|AGPatron in file|

CASE B (In this example SC-machine is only supporting standard SIP-fields)

1) Setup in tab_sip2.conf:

tpl_extensions = N

2) SC-Machine is requesting patron information for patron MB40 using SIP2-message 63:

6300020091026    171247          AO|AAMB40|

3) Patron pays 5.00 (complete cash transaction):

3720091027    1247160100EURBV5.00|AOALEPH|AAMB40|

4) Answer from Alephs SIP2-server:

38Y20091026    182604AOALEPH|AAMB40|BK1209|AFCash performed|AGCash performed|

